# ADDENDUM NO. ONE (1) TO LANDSCAPING IMPROVEMENTS MID-CAROLINA REGIONAL AIRPORT SALISBURY, NORTH CAROLINA TBE PROJECT NO. 3708-1901

November 5, 2021

From:

Talbert, Bright & Ellington, Inc.

3525 Whitehall Park Drive

Suite 210

Charlotte, North Carolina 28273

To:

All Plan Holders of Record

This Addendum is hereby made a part of the contract documents and specifications of the above referenced project. All other requirements of the original specification shall remain in effect in their respective order. Acknowledge receipt of this addendum by inserting its number and date in the proposal form.

# **SPECIFICATIONS**

## PROPOSAL REQUIREMENTS AND CONDITIONS

REPLACE pages PRO-3 through PRO-7 with the attached pages PRO-3 through PRO-7 of Addendum No. One (1). The original line item 22 "Whitewashing of Building" has been removed from the contract.

#### ADVERTISEMENT FOR BIDS

2. REPLACE the Advertisement for Bids with the Re-Advertisement for Bids of Addendum No. One (1).

### PROJECT SPECIAL PROVISIONS

 In section PSP-1, <u>REVISE</u> the deadline for submitting questions from Thursday, September 29, 2022 to Friday, October 21, 2022.

# **PLANS**

1. **DELETE** all occurrences of whitewashing the building on all plan sheets.

## **ATTACHMENTS**

- PRO-3 through PRO-7
- Re-Advertisement for Bids

END OF ADDENDUM NO. ONE (1)

#### BID SCHEDULE - BASE BID

ITEM NO.	SPEC.	DESCRIPTION & UNIT PRICE IN WORDS	QTY	UNIT	UNIT	EXTENDED TOTAL
1	C-102	TEMPORARY FILTER SOCK  @ (Write Unit Price In Words)  TWYNTY dollars	60	LF	20.00	1,200.00
2	C-102	TEMPORARY EXCELSIOR MATTING  @ (Write Unit Price in Words)  Three actuals and fifty con	600	SY	3,50	_a160.00
3	C-102	ON Nundred Fifty dollers	4	EA	150.00	_600.00
4	C-105	MOBILIZATION  Q-(Write Unit Price In Words)  Ten thousand five hundred dollar	5	LS	10500,00	_/0500.00
5	SPEC.	ARMSTRONG FREEMAN MAPLE  @ (Write Unit Price In Words)  Five hundred thirty dollars	-	EA	530.00	1060,00
6	SPEC.	MERITAGE RIVER BIRCH MULTI-TRUNK  (Write Unit Price In Words)  SIX NUMBER SIXTY - Five dollars	\$	EA	465.00	2660.00
7	SPEC.	CHEROKEE CRAPE MYRTLE  @ (Write Unit Price In Words)  Three hundred fifty five dolla	2	EA	355,00	710.00
8	SPEC.	@ (Write Unit Price In Words) Four hundred seventy three dal	aus	EA	473.00	1892.00

## PAGE LEFT BLANK INTENTIONALLY

9	SPEC.	O (Write Unit Price In Words) Six hundred Sixty five dollars	3	EA	1005,00	1995,00
10	SPEC.	BLACK MOUNTAIN SPLITBEARD BLUESTEM  @ (Write Unit Price In Words) One hundred nineteen dollars	80	EA	119,00	9530.00
11	SPEC	FIBER OPTICS BUTTONBUSH  @ (Write Unit Price In Words), One hundred face dollars	24	EA	104.00	2496,00
12	SPEC	RUBY SLIPPERS OAKLEAF HYDRANGEA  @ (Write Unit Price In Words) ONE MUMAICA FOUR dollars	21	EA	104,00	2184,50
13	SPEC.	PARSONI JUNIPER  (Write Unit Price In Words) four dullars	40	EA	164.00	4160.00
14	SPEC.	PURPLE DIAMOND LOROPETALUM  @ (Write Unit Price In Words) One hundred thirty-three dalk	50 51°S	EA	133,00	4650.00
15	SPEC.	MONDO GRASS  @ (Write Unit Price In Words)  Thirty-Six dollars	18	EA	36.00	648.00
16	SPEC.	GIANT PLUME GRASS  @ (Write Unit Price In Words) One hundred four dollars	57	EA	104,00	5928.00

## PAGE LEFT BLANK INTENTIONALLY

17	SPEC.	AUTUMN JAZZ ARROWOOD VIBURNUM	29	EA	252,00	7308,00
		Two hundred fifty-two dollars				
		Two hundred titty-two dollars				
18	SPEC.	REGAL MIST PINK MUHLY GRASS	50	ΕA	51,00	2550.00
	818 Jan 1917	@ (Write Unit Price In Words)				
		THIS OF CONTOUS				
19	SPEC.	BLUE RUG JUNIPER	225	EA	21,00	115MA 00
	0. 20.	@ (Write Unit, Price In Words)	223	_,		1000
		wertig actuals				
20	SPEC.	PLANTING BED	12,000	SF	2 00	24000.90
	0, 20.	@ (Write Unit Price In Words)	12,000	٥,	<del>d'</del>	<u> </u>
		TWO COTTAINS				
21	SPEC.	RIVERSTONE	2,400	SF	6.50	151000.00
	0, 20.	@ (Write Unit Price In Words) Challet Start Cant	2,400	Α.	4130	13000
		SIX MOHAS AND THE CONT	>			
22	329200	SEEDING	2	AC	1200,00	2400,00
	323200	@ (Write Unit Price In Words) dollars	_	710	1000	0.100
		TWENT TIMEWAY CONTROLS				

BASE BID AMOUNT: \$ 10,661.00